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8 10,508,500 3,161,000 7,347,500
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Al 3,670,000 30,000 3,640,000
222 MR EMARE = 18,608,500 5,261,000 13,347,500
48 10,508,500 3,161,000 7,347,500
£ 8,100,000 2,100,000 6,000,000
222-01 XML RE= 18,608,500 5,261,000 13,347,500
8 10,508,500 3,161,000 7,347,500
= 8,100,000 2,100,000 6,000,000
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O Ssi7 sS514dE2 e 1,678,000,000& 1,678,000
8 1,678,000
O EisEX+s 28:2 Hd 1,000,000,000& 1,000,000
8 1,000,000
O XA 26t 2tHdE2 SHFHAIY 147 « 1,500,000,000% 1,500,000
= 1,500,000
O BJFEZ SEIYTZ HEAME 141 % 5,000,000,000& 5,000,000
= 5,000,000
O Hehe Asoet Ml 110,000
3 110,000
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O 32XF AtHI(20264 S1EAF) 20,000
— 2a2(H121) Sak28 10,000,000 10,000
— Jga2d(M2=1) g2 10,000,000 10,000
O SH=EXT HLMSH HAZ H4ZH (ASE 22A) 3,650,000
3,650,000,000&
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= 15,469,000 3,914,000 11,555,000
510 2 DLEEIS 15,469,000 3,914,000 11,555,000
=2 15,469,000 3,914,000 11,555,000
511 2 DEE2S 15,469,000 3,914,000 1,555,000
= 15,469,000 3,914,000 11,555,000
511-01 2 DEEI 15,469,000 3,914,000 1,555,000
= 15,469,000 3,914,000 11,555,000
O Lsr2gt| (s SXHRA XH) 400,000,000 400,000
= 400,000
O SSX? NYZE He 4,873,000,00024 4,873,000
2 4,873,000
OSSN AYEE Ha 1,018,000, 00084 1,018,000
2 1,018,000
O SSXP SZAHZE He 1,678,000,0002 1,678,000
2 1,678,000
O BHESXT ALE2 e 1,000,000, 0004 1,000,000
= 1,000,000
O XX 2GH 2HTE SHFAR 141 * 1,500,000,0008 1,500,000
= 1,500,000
O BIFEZ SETYT2 HE AL 141 * 5000000000 5,000,000
=2 5,000,000
700 BFEAY U HEHH S 913,056 305, 444 607,612
710 B4 S 913,056 305, 444 607,612
711 QoI 913,056 305, 444 607,612
711-01 MY 03 913,056 305, 444 607,612
O &HHYNS 913,056,000 913,056




